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Read and explain.
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How will you solve the problem?
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Set up and do the math!
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Does your answer make sense?
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Multiplication Word Problems

A.
Lola baked 6 pies. For each pie, Lola used 5
apples. How many apples did Lola use?

B.
Jane bought 112 light bulbs. The light bulbs

come in packs of 4. How many packs of light
bulbs did Jane buy?

C.

Enrique has 2 times as many pencils as Ava.
Ava has 6 pencils. How many pencils does
Enrique have?

D.
Susan has 7 times as many books as Mo. Mo
has 18 books. How many books Susan has?




Multiplicative Word Problems

E.

Martin ran 2 miles in 19 minutes. At this
rate, how many minutes would it take Martin
to run 5 miles?

F.

An airplane’ s altitude changed -378 feet over
7 minutes. What was the mean change of
altitude in feet per minute?

G.

Leslie had 3 pizzas. Each pizza was cut into 8
pieces. Leslie ate 2 pieces. How many pieces
were left?

H.

Mr. Kahn gave away 8 blue balloons and
6 red balloons. He gave away 3 times the
number of white balloons as red balloons.
What was the total number of balloons Mr.
Kahn gave away?




